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PART - I1: SCHOLASTIC APTITUDE TEST

(For Student of Class VIII)
1 90 Minutes Max. Marks :

INSTRUCTIONS TO CANDIDATES
Read the following instruction carcfully before you open
the Question Booklet.
1. Answers are to be given on the same OMR Answer
Sheet provided for Part - 1.
2. There are 90 questions in this test booklet. All are
compulsory.
3. The Question Numbers 91 - 110 belong to
Mathematics, 111 - 145 pertain to Science and
146 - 180 are on Social Science subjects.
Choose the correct answer from the options given for
each question and darken the corresponding circle
with black ball point pen in the OMR Answer Sheet.
Do not mark ‘v or ‘X’ in the OMR sheet.

Time 90

Since the time allotted for this Question Paper is very
limited you should make the best use of it by not
spending too much time on any one question.

6. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which you
have leftin the first instance and attempt them.

Rough work can be done anywhere in the Question
Booklet but not in the OMR sheet/loose paper.

8. Each correct answer will be awarded one mark.

9. Please return the OMR Answer Sheet only to the
invigilator after the test. Candidates can retain the
Question Booklet.

10. Quote your seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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u@GH - 11 : ugtughlaid Hper uGHE Coeay
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1. efsoLamer UGH-I Gaiailpe smymsiui OMR
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2. @g(ﬁgnmﬂm 90 efleniTés g6l o_siremeur. Djsmem &HMNG D
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3. efleorm srewnrasem 91 - 110 semfigid, 111 - 145 Ziflelwsd,
146 - 180 o8 Q|HIaNILED LML RIGMETE SMTTHSmAL

eaGurn alamalpEn Qar®ssiu @srar LrHD

e sl mEg Fflurar aflamLuflamears a,swn_g’ﬂgg,j

oims OMR aflsnLggmafles 2 fw o't HHev &y Hin

urreoumuSletan’. Gussrmeleanmeb &1 L Geustor(Bid. v tommad X

Sy GIGsmar OMR sflooLgarefler Gswé

Fo L TG

5. @5 eNTTEST(EnEE RSISHSIL[BTET STe JieTey Llsd
GopauTarsETs @HUUSTD ahs @@ allamailngn
& (0860 CETSmEE Qenanifléamos Crrgms Wes Snis
(psomufle) LwETLESSELD.

6. eremaug) e allamalng oL Qgfluailsme saTmmed

IHCuCW sTevailimud Qaiiwmos 9HO5s allamelne

Gaseen. Crrllmrsre sl el HEQssTn

aflerrs &emar (pwmel Gainuen.
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9. Garrey WYis YImEg OMR allnLgsremer WL HILD
Ijmms s sTeluureriiLin Gar@EésaD. aflsrmsrs
Qar@liemu Caieau sTHS81E Gashasom.
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93.
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MATHEMATICS/ &6 S0

(20 + 7) +12=20+ (7+12). This satisfies

which of the below mentioned property ?

Closure property
Commutative property
Associative property

Additive identity

Find the value of :

((—60+3)+10]x[(45+3)~2]

(1) -—156
2 -25
(3) 120
(4) —130

The base of the parallelogram is four times
the height and its area is 256 cm? then, its

height is :

(1) 4cm
(2)
(3)

(4)

6 cm

8 cm

16 cm

91.

92.

93.

(2047)412=20+ (7 +12) erenug &1
st QIDOIET 6Thg Laa e Hlenmey
Qe ?

(1) o@La|U L
(2) ufliorhols uey
3) Gariyl Lemr
(4) gal L&) GLoer)

&Y SR

((~60+3)+10]X[(45+3)~2]

1 -156
@ -25
(3) 120
4) -130

U @Qamamsrsder é{quuésamna.ng,]
S| G o wrsamsl Gure & LLEG
HMD DS LTUL 256 Q.52 crale,

S|BE o I :
4 Qg.1B
6 Qe..b
8 Q.15

16 Q&5
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9. (2x+3y-dz)+(6x-10y+142)— | %4 (2-\‘+3y—42)+(6-\'—10y+'14z)
(153 +8y —72) =2 (153 +8y—7z)=? 1

(1) -7x+y+3: (1) —-7%+ty+3z

() 7x+y-17: (@) 7x+y-17z

@) -—7x-15y+17: (3) —7x-=15y+17z
4)  =7x+15y+17z 4)  =7x+15y+17z
95. It (30 +x)!=50625 then, the value of x is: 5. (30+x)'=50625 ereled, x e wlliy
1) 16 1 16
2) 4 ) 4
(3) -15 3) -15
“4) -3 4) -3
96. The value of (1§x16 >§17)9 is : 96. (15x16x17)0 -en wdiy :
1) o 1 o
2 1 @ 1
(3) 15 3) 15
4) 17 4 17

97. The unit place value of the number | 97. 7102241023 +1024 aranp  Cameneuudlen
102 +108 +10% is : RETDMD Q&S :

1 o 1) 0

2 1 2 1

@) 2 @ 2

#) 3 4 3
4
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98.

99.

100.

101.
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422 —5xy +2y7 +8xy —y>+ay is a
(1) Monomial

(2) Binomial

(3) Trinomial

(4) Polynomial

The number of zeros in 1001 is :

(1) 2
@ 3

3) 10
4 20

If 5m+15 < 20 then, the value of ‘m’ is :
(1) m=0
(2) m=1
(3) m=1
(4) ms<l1

If Babu repaid ¥ 10,824 as total amount for

-a loan of T 8,200 at the rate of 8% p.a., how

many years he had taken to repay the

amount ?
1) 1
2 3
3) 4
4) 5

98.

99.

100.

101.
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4x2 — 5xy + 22+ Bxy — 2 + xy eTeILg) @ -
(1) @onuys Cemamay

2)  momiys GCeneana

3)  peyniiys GCareney

@)  uegmuys Caraey

10010 -@é eodrer yFfwmsaien
crerrenll&ens

(1) 2
(2 3
3) 10
4) 20

5m+15 < 20 -@eé Siey :

(1) m=0
2) m=1
3) m=1
(4) ms1

urmy ereruieum 8% gsaflaul ly aiggdled
¥8,200 - sLamal Qupm I 10,824
mbus QeqsHarmt erafler eum
THSZISCSTTL i, 6Hr(HSET cTeualaTey ?

1) 1
2 3
@) 4
4 5
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102. Find the value of ‘m’ in the figure.

103.

A

1 72
(2) 122°
(3) 29°
@) 52°

If two plane figures are congruent then, they
are said to be:

(1) same in size

(2) same in shape

(3) same in angle

(4) samein both size and shape

102,

103.

L gdenerar ‘m’ -6 UL srers,

18°
60° %

A

0

88°

(1) 720
(2) 1220
(3) 29°
(4) 52°

Q) ST 2 (HEUMGET FTeUEIOWD 6Tamley,
S|ma6u

(1) &b 6Tey 2L W6l
(2) &w auged 2 L wemel
(3) &g Carenr BieTe] 2 L W6

(4) &L JeTeyld & GUlgEUAPLE
2_6n L Weneu
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104.

105.

106.

Pick out the correct statement(s) from the

following,.

(@ Ina triangle, there will be more than
one right angle.

(i) In a triangle, there will be only one

obtuse angle.

In a triangle, all the angles can be

acute.

(iv) Ina triangle, all the angles are obtuse.
(1) (i), (ii) and (iii) only

(2) (i) only

(3)  (if) and (iii) only

(4) All of the above

The median of 18, —4, 0, =3, =8, =13, 1,
7,89 3.

(1 -13

(2 18

B3 1

4 O

The centroid of a triangle divides each

median in the ratio

1) 1:2
2 2:1
3 1:3
4 3:1

104.

105.

106.
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Geneumd sapmsene sfwrareuHerns
CaihbsH &8,
() oo @iGsrarsdd @IDEE
Cuohut 1 QeriCanammisaT SIeLD.
i) @® GsGerarsfod @Gy 26
NACsTerTd WL (Hb BienOWYLD.
om W&Csrangda PSS
CorammiisEnd (& Gement -
SETTE B{EDLOWLD.
em &EGeransfed D
GanamiisEn eIfCaTamtd 4GEL0-

(iv)

@) (), (i) wHpmb (iii) LB
(2) (i) oL_(Hb

(3) (i) HmD (i) LD
4) Cupadiu o5

18, —4,0, =3, —8, —13,1,7,8,9,3 &w

sre|saier Qe Hlene :

1 -13

2) 18

@) 1

) 0

em wsCsramsdar pHECETLH

ewwioneag eeaubeunm pHEGCT L -

W ldssde 9N&8ms).
1 1:2
@ 2:1
B 1:3
4) 3:1

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net - No.1 Educational Website in Tamilnadu

[CODE[vI] 11 | 23 |

107. If a class size is 10 and range is 80, then the

108.

109.

110.

number of classes are :

(1) 80
(2 10
@ 7
¢ 8

2 4 5

subtraction does not satisfy the _____—

property for rational number.

l_(§_§j¢(l_§)—§ illustrates that the

(1) Commutative
(2) Closure
(3) Distributive

(4) Associative

Identify which among the following is a
linear equation.

(1) 7k2-16=0
(2) m-16=0
(3) 4p3=12
(4) 6x*=18

The graphical representation of ungrouped
data is :

(1) Histogram

(2) Frequency polygon
(3) Pie chart

(4) All of the above

107.

108.

109.

110.

Qfley wemay 10 wHmb 65658 80 erafia
Gfleysefles eremanisans, :

1y 80
() 10

@) 7

4) 8

1 3 5 1 3\ 5 ; .
5‘(2‘3]**(5‘2)“3 cTemp S5 ganens)
eNflapm ererTEaTesn L Qanen

Bevpey Qewrg aeaums eflers -
SHmg.

(1) uflwrom
(2) evLay

(3) umE@H

4) Geriy

Yemeu(peuameummMe  erg
Fweuml ?

(1) 7k2-16=0
2) m-16=0
(3) 4p3=12
(4) 6x*=18

Crflwe

QsrEsEsILLTE efleurmsaiien euemyLL
eNetds (pa :

1) Hspey Qsaeusd
2) Hape) veGsramd
() eulL eflet&sluLIDd

@ @ee soabsd
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SCIENCE/ gimleSlwev

111. Match the following.

112.

(a)

(3)
4)

Astronomical (i)
unit
Light Year (i) 1.6 km

Parsec (iii) 3.09%x1013 km

Mile (iv) 1.496%108 km
(@)-(iv), (b)-(3), (c)-(ii), (d)-(ii)
(a)-(iii), (b)-(iv), (c)-(id), (d)-(i)
(a)-(iii), (b)-(1), (0)-(iv), (d)-(ii)

(a)-(ii), (b)-(iv), (c)-(1), (d)-(iii)

The main effects of electricity :

Heating effect
Magnetic effect
Chemical effect
(ii) and (iii)

(1) and (ii)

(i) and (iii)

All of the above

9.4607 X 1012 km

111. QummSss :

112.

()

(d)
@)
()
C)
4)

9.4607 x 1012
&.8

euraflwed (i)
DG

ot ger@ (i) 1.6 .05
eflaremiwed (i) 3.09x 1013 &.15
< TID

MO (iv) 1.496 %108 &.05

(2)-(v), (b)-(), (0)-(iii), (c)-(i1)
(a)-(iii), (b)-(iv), (c)-(ii), (d)-(3)
(a)-(iii), (b)-(1), (c)-(iv), (c)-(ii)
(a)-(ii), (b)-(iv), (c)-(1), (db)-(ii)

BlenCenmLgdlen (p&élw ellaneraysarT :

(i)

(i)
(ii)
(1)
(2)
3)
(4)

Qeuliu efenarey
s oflevaoy
Geud) aflanaray
(i) LoOMID (i)
(i) Lpmd (ii)

(i) LOYID (iif)

Cuonmfu SDRTGHID
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113.

114.

115.

Pick out the incorrect statement

Primary cell :

(1) The chemical reaction inside the
primary cell is irreversible.

(2) It can be recharged.

(3) It is used to operate toys and torch
light.

(4) Dry cell is an example of primary cell.

The term ‘SCHOOL’ written in school buses
appears as “JOOHD2" in the mirror

because of :

(1) Real Image

(2) Virtual Image
(3) Dispersion

(4) Lateral Inversion

The type of mirror in which the reflecting
surface directs the entire incident beam of
light to converge at the focal point is called :

(1) Parabolic Mirror
(2) Convex Mirror
(3) Concave Mirror
(4) Plane Mirror

10

113.

114.

115.

& 6L M saHEPDE L REICEETI
(PEETELD LTS -

(1) Qaupdie> per Quod Couflefancy,
wresgl g BeTm 69emeT DG

2 @wmasmer Bar@ WaGarhy
Qe @WEILD.

(3) Qumbeo&eT, & LBles169 6T & san

Guenp Sl FTSETRISENET Quss
LwestL(h &l eTment.

> i e psaTenn War-
SOXES T(HESEHTLLMGLD.

‘SCHOOL’ eran uwarails Gumbdle
TPSLILILL & plqufled "JOOHD2" eTag
Qg feuger sTFaRLD :

(1) ° Qo GibuLb

(2) wmw Gbulbd

() WNSme

@ @Lamwrhpid

adQrrafls@n urlurerg serbsg
Ay qalsaspan Dmarsmsu
Gelwliyerafluley GalGEh bl ullen

ouenNS

(1)  UrauenaTIL iy
(2) Gelwmg

() ©Pury

(4) &WLSET Pl
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116.

117.

118.

119.

Which one of the following instru ments uses

the Laws of Reflection ?
(1) Camera

(2) Torch Light

(3) Periscope

4) Handy Lens

Find the equivalent value of 68°F in Celsius.

1) 10°C
2) 20°C
@) 15°C
4) 25°C

During BigBang Explosion, the level of

temperature was :
1) 1032 K
2) 103 F

3) 10%2°C
@4) 10732K

The type of reflection formed when a beam

of light falls on the smooth surface :

(1) Total Internal reflection
(2) Multiple reflection
(3) Diffused reflection

(4) Specular reflection

116.

117.

118.

119.
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arhQumafliiy 9 Huferiig. Qeweou®Ld
s(medl

(1) &moym

(2) L& emevL

@) QuflevGar

@) @sWLEs Clevas

68°F Qauliublenevé@ FLoLomest Qgevlwie
Hlemens ST HlWELD.

1) 10°C
(2) 20°C
@) 15°C
@) 25°C

Quep Qeugtiy Haphs CuTg 2 (Heumer
QeuliugSler Sieme] :

(1) 102K
(2 10%°F
@) 1032°C
(4) 10732K

aupeuptiurer urlnded gelssdliser
o (eund@h erdQrmafiiiy semenouder
Cuwr :

1) s ad@rmafliy
(2) uens adyrafliy
(3) eSlyeuemen a@@unaﬂuu
(@) sarewrmy er&Qymafliyy
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b s : . =1 K d
120. The speed of sound in air at 273 K an

295 K respectively are

(1)
)
Q)

()

Ax108 ms !, 331 ms !
344 ms !, 360 ms !
331 ms~ !, 344 ms ™

331 ms~ 1, 3x10% ms~!

121. The pressure cooker handles are made up of
bakelite. The reason is :

1)
)
©)

(4)

Conductor
Insulator
Decorator

Easy for handling

122. Which of the following is wrongly paired ?

(1)
(2)
(3)
4)

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com

Proton - Goldstein
Electron - J.J. Thomson
Neutron - James Chadwick
Electron - Bohr

Cloud Model

120.

12

121.

122.

273 K wppid 295 K HW Qg
Heneaailed gelufler Gousd Peomg,,

. =1
(l) 3 % ]OS ms 1, 331 ms

(2) 344 ms~ !, 360 ms”!

(3) 331 ms !, 344 ms™!

(4) 331 ms~!, 3x10% ms™!

Gresast @G&aMen s SET swnd
ude CusasmerL vweB5sULDay
STJEOTLD :

1) sLggIb Qummer

() sLssTL QuTmEr

() Somstrl QuTmEr

(4) SOULISS SWNEHL AurES

seupren @eaans CapAsBEss

1) yGrmiLmen - Camrdr cuea

(2) cT&LFTET

G .Cg. smbss

3) BHylgrar - Ggubsy srie
4) gosLgrar - Qumm

S L RISAT

wrHf
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123. Choose the correct pairs.

124.

125.

(i) Antiseptic - lodoform

(i) Antibiotic - Chlorophenicols
(i) Natural - Ethanol
Antiseptic

(iv) Analgesics - Aspirin

(1) (i) and (ii) only

(2) (i) and (iv) only

() (i), (i) and (iii) only

(4) Al of the above

Which type of fire extinguisher is used to
control the fire on butane and methane
gases ?

(1) Water

(2) Dry Powder

(3) Foam

(4) CO;,

Choose the incorrect statement.

(1) Curdling of milk is an example for
irreversible change.
(2) Churning of curd is also a physical

change.

Freezing of water is an example for

chemical change

Rusting of iron is an example for

)

chemical change.

13

[CODE]vIII] II ] 23 |

123. sflwner eramaamars CaMb0sHESWD.

124.

125.

() <pgLslns - HCGuIGLTUMTD
(ii)

(1)

peig LwIm g & - GCarmymiafsme
Qupes a1y Qs - TESTTE

el Hleunenfl - pevldfen
(i) wOHmID (i) L (HLd

(iii) OMID (iv) LB

(), (i) LHDID (i) LG
Cunemadu SimarsgIn

G CLer wpmid B5Cs6m eumussar
LupMarmed Seupedn HOTESL
LweTU@L SwenesTiume

(1) B

(2) oo grer

©)
(4)

Bieny
co,

seupren sapenns CsiHosHEsa|W.
(1) umé sulgrge erenug @ Berm
clleneim@&,Lb.

sWlenrs sMLHO eTaTUg @
QunGwe WwrHmLMELD.

Bt 2. ampged erenug) Ceududwied
LIHPSHDHE @O TS

LM@GLW.

(¢4 Qmby sOUlgsse TaLg
Carifu wmipgisran aBiss-
SML_LMGLD.
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126. The elements which are Synﬂ’lesi”3d
artificially in the laboratory out of 118 are :

127.

128.

(1)
(2)
)
(4)

24

26

18

Liquid metal : Mercury : : Liquid non-metal :

(1)
(2)

(4)

Bromine
Chlorine
Sodium

Antimony

Hg2*, Sn?* ions have the following names

respectively,

(1) Stannous and Mercurous
(2) Stannic and Mercuric
(3) Mercurous and Stannic
4) Mercuric and Stannous

14

126.

127.

128.

ys to us : Padasalai.Net@gmail.com
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@ geueT saLmuiul L 118 Befly.
saflc é%u_;@ug;m&;aﬂm qu"me‘”&m

gurfssiuLL §%ﬂmm%ﬂ
erevsT et & en s

1) 24

(2) 26

(3) 18

4) 21

Hreu 2 Gomsb @ UTSTSFD : : gy
2 Crsb :

(1) yGpmdes

) @Cermie

() Gamgquwbd

(4)  <gpargaefl

Hg?*, Sn2* guafs@néE auiphs
u@w Quwrsdr WepGuw :

(1) vGLenamen wHmd QiGIe
2) wGLemafls whmid QuiEs
(3) Quigren whmb coGLaai
@) Quigfs vimb aCLaa®
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The element denoted in the diagram is :
(1) Ar
(2) Kr
“(3) Ne
(4) Rn

In Haber process, acts as a

catalyst.
Ammonia
(2) Nitrogen
(3) Iron

(4) Hydrogen

. The gases used to remove germs and bacteria

present in water :

Chlorine and Ozone
(2) Hydrogen and Oxygen
Carbon and Oxygen

Chlorine and Hydrogen

129.

130.

131.

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com
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pL GOUE@GWL seflwb :

(1) Ar
2) Kr
(3) Ne
(4) Rn

Gapui elemaruier elemery,sdwrs
Qeweuhieug) :

(1) wCwrefiwmr
(2)
(3)

4)

an B[ en
Gy

M am L_yeen

Bfler 2 cirer ApLlsen wHmD LTse-
wrésener $&6 LWETUHWL eUMULGEET :

(1) ©Cernflen wHmb Cemer

(2) eaml e WwHMID &8 gen
() s&miuer LHMID Y &5@eT
(4) @Cammfen wHmD el e
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132 i used 1o neutralize the pain | 132, arpuibyy s5G» CUTE TOUGL ag
and irritation caused by ant bite. D eriflGad 2-amriaiGenen
Qarein () ofEaILTD.
(1) NaOH (1) NaOH
(2)  KOH (2) KOH
)  CaOny, (3) Ca(OH),
(4)  NaCl 4) NaCl
133. Match the following, 133. QuNmHESI5.
(@) Storage root (i)  Pisum () Gelliy Geur () wLLmew
(b) Sucking root (i) Colocasia b) ofers Gaur  ([H) Celurm
EPpBE
(c) Tendrils (i) Beet root € upms sb@ () Glepl
(d) Underground (iv) Cuscuta (d) seordp s&r® (iv) SevGLLT
stem
1) (a)-(iii), (b)-@), (c)-(id), (d)-(iv) (1) (@)-(ii), (b)-@), (0)-(id), (d)-(iv)
(2)  (@)-(iti), (b)-(iv), (0)-(3), (d)-(ii) (2)  (@)-(iid), (b)-@iv), (0)-(i), (d)-(ii)
(3)  (a)-(iii), (b)-(iv), (c)-(ii), (d)-(3) B)  (@)-(ii), (b)-(iv), (0)-(i), (d)-(i)
4)  (@)-(iv), (b)-(iii), (c)-(i), (d)-(3) @) (@)-(v), (b)~(iii), (c)-(i), (d)-(i)
134. Pneumatophores are seen in : 134. ol CLm.Cuniger Srewriu(heug)
(1)  Avicennia and Banyan 1) Seufleflwr LODMID LoD
(2) Vanda and Cuscuta (2)  eumeTLT WLHMID SHEOEL_LT
(3) Sugarcane and Betel () s®DBY LHYDG GeupHlere
(4)  Avicennia only 4)  effeflur w G
16
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135. Which of the following is/are correct with 135. Smeu 7 & arfl 0 5@@4@]&@13@'0 Gery

| regard to post fertilization changes in U@L WwrHmsele g/ erameu &l ?
: plants ?
@)  Petals fall off () s EGp 2 Hidngl
: (i) Ovary develops into fruit (i) @menu gsalwng wrméng|
‘ (i) Ovules develop into seeds (ill) GHOHET lwGEHETTS LrnHns)
| (iv) Androecium fall off (iv) WLSTHSSTET GULL LD o Sidng
| (1)  (iii) and (iv) only (1)  (iii) LHOID (iv) LG
i (2) (i) and (ii) only 2) (i) wHmib (if) G
; (3) (i) only @) (i) WD
(4)  All of the above @) Cupamdu AdaSgIbd
; 136. The plants which produce spores are : 136. GUCUITTSEET 2 (HEUMEGEGHD STEUIRISET :
‘ (1) algae, fungi, mosses, ferns (1) un&&arT, g@mgagm, LOTEV&ET,
f Quyenflaer
; (2) algae, fungi, spirogyra, ferns 2) unélsar, Yepemaser, auenuGr-
| aayT, Quailsar
;; (3) fungi, mosses, ferns, yeast (B) LEHmESET, TELEET, GLreaseT,
; FFEVL
(4) algae, mosses, ferns, spirogyra (4) urélser, V&6, Quyeailger,
everIGrTen &y

137. The dominant plant forms of presentday is/ | 137. gper@gdle eumpd FTeuy & afl v

are : ) Waeyb Guburlh S®LbHS®mE6 :
(i) Pteridophytes (i) QuAGLmemul (haer
(ii) Angiosperms (i) <ERACWTEVQUITDEET
(i) Gymnosperms (i) QbGarTEvEUMDSET
(iv) Bryophytes (iv) YergGumerul (H&er
(1) (i) and (ii) only (1) (i) wHmb (ii)
(2) (iii) and (iv) only (2) (iii) OO (iv)
(3) (iv) only (3) (iv) wL(Hw
(4) (i) only (4) (i) LW
17
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138.

139.

140.

Agar Agar is extracted from ____—— red

algae namely.

(1) Chlorella and Spirulina

(2) Gelidium and Gracillaria
(3) Ulva and Ascophyllum

(4) Laminaria and Anabaena

Find the correctly matched pair :

- Special roots present

in parasite

(i) Haustoria

- Petals which are many
but not united

(ii) Polypetalae

(iii) Autotrophs - Organisms which '
prepare their own food

(iv) Gamopetalae - United petals.

(1) () and (ii) only

(2) (i) and (iii) only
(3) (i), (ii) and (iii) only
(4) All of the above

Select the incorrect pair :

(1) Unicellular - Euglena
organism

(2) Arthropoda - Snail

(3) Echinodermata - Star fish

(4) Annelida - Nereis

18

138. | &MIT

DEMT e eﬂajm
urAuN N (HHS) 19A5Q5HSSULGEDg
GGerm@lyevevT LOMHMILD GLEDLI-
(Hedleutm

QggeSigwitd LoHDILD HCreGaoMuy

1)

(2)
(3) <@icbeur LHOID 2, GE M Sevaniy

@) emblGarflwm Hmib ierSerr

139. sfluner @aaraowd CaMe] Qawis.

@L;@as'vrswﬂ SreuFhsaeed

@) e-dleps - 5 g
o ML &ET smenrLIL@WD Aoy Geurrae:
(i) Lmed) - LU saflEs i
QUL LG @spsmer ClsmearL_emeu
(i) pemiy - STGET FLOF DTS
o> fsar  swrMa@b 2 ulflser
(iv) G&Gwor - GaThS i)

140.

QuLL G @ spsemens ClsmeL el
1) () wHmd (i) LG

(2) () O (iii) LG

(3) (i), (il) wHmID (iii) L (HLD

4) Cupadlu Simearggn

CuMmBBsTS Qenanteanis; GaibEEHESLD.

1) emQsd 2.19A-  yseflem

(2) 5@]&385”’6’&65611’ - ([f)g,mg)

B) WL Csrlger - BUssSy Be
(4) eumargamsl - BAcv

L(Pp&Ser
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- 141. Yeast reproduce by

142.

(1)

fragmentation

(2) budding

(3) splitting
(4)

spore formation

The type of pigment seen in phaeophyceae :

(1) chlorophyll

(2) phycoerythirin
(3) phycocyanin
(4) fucoxanthin

143. The number of ATP molecules formed by

glucose molecules in aerobic respiration :

(1) 26
2 32
3) 36
4) 20

19

141.

142.

143.

[CODE[viI] 11 | 23 |

LEHPESET _____ apeld @er-
Qu(pss Lauflamer.

(1) gleTLIHeD
2) Qurl@® Bz
Gerggen

)

(4) 6958 2 (HeuNEsLD

GuBuns.udsailer sreuBD HDLOl-
uder cuens: :

(1) uémEWLD

2) o.amusGar erflgdfler
(@) oeamuCarawiefen

@) Sl sCamambslen

srpmerer GeuragHenr CUTE GEHE-
Came epedaam 2 (Heuns@w ATP apes
Famisaflen cranTanilEamns :

(1) 26
2) 32
3) 36
4) 20
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144. The chemical substances seccreted by

endocrine glands are called as :

(1) Proteins
(2) Enzymes
(3) Hormones

(4) Fatty acids

145. Match the following :

(@) Amphitrichous (i) E.coli

(b) Atrichous (i) Pseudomonas

(c) Lopotrichous  (iii) Rhodospirillum
rubrum

(d) Peritrichous (iv) Corynebacterium
diphtheria

1) (a)-(), (b)-6), ()-(v), (d)-(ii)
(2 @-(v), (b)-(idd), (c)-(ii), (d)-()
(3 (@-ii), (b)-(iv), ()-(i), (d)-(i)

(@ (@G, B)-Gv), (©-6), (d)-(ii)

srusame®d  2DUsH

144, ;bnmL&G'ucvrrLb @@J@L'J QuITGETsE

Qewwdu® :
eraniuGD-

(1) yrgrase

(2) Qprdser

@) apriGLorenser

(4) Qampiy SBQESE

145. QumBSHS :

(@) @mumar spops () or.Carema
sansuienip
(b) sms@epuppeae (i) GHGLT-
Gomestmen
© @O o speops (i) CrrGLm
semauilenip even LI ev-
QLD EHUINLD
(d) &Hms swslaw (v) Casmied
umle fMwi
g USMAwir

D) @), ©)-6), (©)-(iv), (d)-(i)
() (@)-(v), (b)-(ii), (c)-(i), (d)-(i)
(3) (@), (b)-(iv), (c)-(i), (d)-(3)

(4)  @-@), ®)-(iv), (0)-(), (d)-(ii)
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was the land gifted for the
maintenance of schools.

(1) Vellan vagai
(2)  Shalabhoga
(3) Brahmadeya
(4) Devadana

147. Who laid the foundation of the Qutb-Minar ?

(1)  Itutmish

(2)  Muhammed Ghori

(3) .Qutb-ud-din-Aibak
(4)  Ghiyas-ud-din-Balban

148. Find the correct pair :

(1) The Bibika Magbara - Azam Shah
(2) Lal Quila - Akbar

(3) Buland Darwaza - Shah Jahan
(4) Din-I-Panah

- Aurangazeb

149, The Bijak is :

(1)  Avatar of Krishna

(2) Holy Book of Jains

(3) Collection of Kabir’s verses
(4)  Conduct code of Ulemas

e AT T e e e

[CODE [ VIl 11 [ 23]

SOCIAL SCIENCE / goip& SimleNwiev

146. &06ed Heveowrisemar uFmoAUUSDETS
QarenL_Wng m;priua;uul'_l_ 1Hl vy & &

(1) Geuermemt euens
(2) srooCGursd

@) QrowGswbd
(4) Ggeugnand

147. GHUO@THES g &S50 BTG et

wir ?

(1) @eogidle

(2) pswg Cami

B) @suSean gus

@) HwursSen umeLIT

148. sfilwren Qenemerwd CHMHESHESAWD.

(1) YQsT LEUNTTT - DLWTD QT
(2) omeL @GUOT - HBUT

(B) UODHST UTET - QITRSTET
(@) Ser-@-uret - ETFRISS

149. LIRS ereaTLIG)

1) Hmegemalen oicugnyd

(2 OguWertseier Lalls mre

@)  sSflen sclmgsaian QgmELiy
(4)

e Gowrssailan @pss a0
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L CODE [vII| 11 | 23 | 1
150. &lpzj,gmraiarumeua}saﬂsb 16?4 -Qéd éﬂmn@\ ‘
wyLeir Qapm et Hape] 6g) ?

sorasdlenwd @SULUDNISQ
0]

150. Which of the following incident is related
with Shivaji in 1664 ?
(1)  Conquered Javali (1)
(2) gggugﬂm GBS DHUEQVGT e,
Qareney GFWIHW

Qp&mrrlurﬂ(‘ﬂ p&EWS DD
15 & [ LD 1T 60T GIH5PS GeoDwmg
5105 LenL_SenerT &@IL'J!S] @%\Jggq

(4) He wounded and chased away the @) psTWH émuﬁ.gm@ml—g’”m@
Mughal general Shaista Khan smuLUOSS STSSSD

(2)  Sultan of Bijapur was assasinated by
Shivaji
(3) Heaudaciously directed his soldiers to 3)

plunder Surat, the major Mughal port

151. The Vaikuntha Perumal temple at | 151. sm@pélygsglauerer meuGTL HuBLNE

Kanchipuram was built by : Camilened SL gl LDGSTET m:
(1) Mahendra Varman I 1) @gembd CsHS Feumoer

(2) Narasimha Varman I 2)  @psemd BrSIDLOEUTLDET

(3) Narasimha Varman II B) @uehrmb BHFEIDLOETLOET
(4) Nandi Varman II 4) @ueRrLmd BhsleuToaT
152. “Bigha Nitaya” means : 152. ‘98 Hswr aerus) :
(1) Preachings of Jainism (1) swew LEEUTHMETSET
(2) Ajivika philosophy 2) <fous sHgeULD
(3) Buddhist schools B) Quersg uereflser
(4) Buddhist tract (4) Querss sww mred
153. The first Buddhist commentator was : 153. upged QuaTss o enpurdlfwi -
(1) Asvaghosa (1) jeveuGanarn
(2) Vajrabodhi 2 augrGunrd
) Sithalai/Sathanar (3) Essme snssemm
(4) Buddha Gosha @) uyssCGanen

22
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which among the following is not relate

dto
the Buddhist study centre ?

1) Nalandha
(2) Banaras

3) Taxila

(4) Vikramshila

. The chronological order of the forts annexed

by Shivaji :
(1)
(2)
©)
(4)

Raigarh, Torna, Kondana
Torna, Raigarh, Kondana
Kondana, Torna, Raigarh

Kondana, Raigarh, Torna

At the end of which battle did Robert Clive

introduce Dual system of Government in
Bengal ?

(1) Battle of Plassey

(2) Battle of Bauxer

() First Karnataka war
(4) Second Karnataka war

Through which treaty, Peshwa Baji Rao I

accepted Lord Wellesley’s Subsidiary
Alliance ?

(1) Treaty of Salbai

(2) Treaty of Bassein

()  Treaty of Paris

4) Treaty of Mangalore

23

154,

155.

156.

157.

[CODE [VIII | 1I | 23 |

&@e‘msﬁm_mrj)g‘)]d) a8 Uss Heal
@WLWID DO ?

(1)  prambem
(2) LIGUTITIT GV
3) L&D
@) ef&rwéem

Aargd esiupdlu CarleLselar
glwrar euflens :

1) Quusr, Camie, Gamegr(HeumenT
@) Ggmienm, Qpisn, Gemewr (heumeT
3) Geraw@euren, Gy, Qs
4) Geraw@eurent, Quiisnit, Cgmiem

apsl Gurfar pyeild @uruil
feverey @riel YL & peopeOws
Qarearr(h eubSTT ?

1) Qerrdlu Gum

(2) ugemr GumT

@) serb srrLsL GumT
4) QrarLmb srprsl Gt

Cuegeur @ramLmbd urHyre erHs
2 Ly SensudlenLilg. Qeued@evevedludien
goaruumLy SHlLsms goHmE
Qs marLmi ?

(1) &meenu 2 L 6TUIg &N
()  uevelden 2 L ey &ms
B) umflev 2 Latug&ms

(4) LERSEHT 2 L 6LIgSms
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158.

159.

160.

161.

The idea of competitive examination for

recruitment of Governmentl Sti\f[ was

introduced first by the .
(1) 1813, Charter Act
(2) 1833, Charter Act
(3) 1853, Charter Act
) Indian Government Act, 1858

Ghatika was the Educational Institution of

period.
(1) Pandias
(2) Cholas
(38) Cheras
(4) Pallavas

Match the following.

(@) Arete (i Wind

(b) Loess (i) Rivers

(c) Lagoon (iii) Glacier

(d) Plunge Pool (iv) Sea waves

(1) (a)-(i), (0)-(), (c)-(iv), (d)-(ii)
(2)  (@)-(), (b)-(id), (c)-(idi), (d)-(iv)
(3)  (@)-(0), (b)-(iv), (c)-(i), (d)-(iii)
(4)  (a)-(idd), (b)-(id), (c ()( v), (d)-)

International mother language day is
celebrated on

(1) 2nd February
(2) 12t February
(3) 21% January

(4) 21% February

158.

159.

160.

161.

|, Gumiys GaTe e 3
@m@tun ﬂmwmw T EGSDE (pgg,
Wppdli P psLEEHVE.

(1) 1813, ulLwé gLL LD
(2) 1833, ULLWE LD
(3) 1853, ULLWE& gLLLD
(4) 1858, @pw SiTEE FLLD

‘Sl T ST &ened

Blmieenmi&aT.

(1)  umesTiguIT

2) Gempm

(3) Geaprr

(4) ueeeuT

QUTHSSS.

(@) Q@ @ smHm

(b) USTEISHET (i) <ymiser

(€ evumsPser (i) uweflwmm

(d) = lurmdey (iv) &L S®a
€%7:7.91)

(0 @), (b)-6), (0)-Giv), (d)-Gi)

) (@-(), (b)-(i), (o)-(ii), (d)-(iv)

®) @) B)-Giv), (0)-(ii), (d)-(i)

@) @-Gi), B)-Gi), (©-(iv), (d)-G)

Leram_(h smiiGwomy) gland Qe
LuuBeug :

1) Qdgeud -2

2)  YGidgeud - 12
3) gemeur - 21
4) Qdgeud - 21
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»2. The ore found in Kanjamalai in Tamil Nadu

3.

64.

is

M
()
A)
)
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Copper
Bauxite
Iron

Manganese

Find the odd one out :

(1)
)
(3)
4)

Kumbakarai
Killiyur
Agaya Gangai

Vettangudi

Match the following :

(a)

()

(©)

Maharashtra (i) Marari Beach

Karnataka (ii) Aguda Beach
Goa (i) Tarkarli Beach
Kerala (iv) Om Beach

(@), (b)-(3), (©)-(iv), (d)-(id)
(@)-0), (b)), (©)-(iv), (-

B @)-Giv), ()-(ii), (c)-(ii), (d)-()
@) @), (b)-(iv), ()-(ii), (d)-G)

25

162.

163.

164.

[CODE]vII] 11 ] 23 |

plpagher aehamauic HaLd@w
P

gmblyio
LTSNS

QU

LOIT 16 & 6¥T &

Quimbsns qetamns CaibhsH&sHa .

(1) ELUsESMT

@) el

(B) WSTW ShIMmS

@) GeulLm@ly

QurBSgs

() wasrpragligym (i) gy
SLD&EI)

(b) sTBET_ST i) AGST
SLDEMI

() Gameur (i) srasTI)
SLDEM

(d) Gasyermr (iv) e FLOSdI

(1) @), (©)-(1), (©)-(iv), (d)-(ii)

(@)-(0), (O)-ii), ()-iv), (d)-(ii)
(@)-(iv), (0)-(i), (c)-(i), (d)-(i)
()-(ii), (b)-(iv), (0)-(i), (c)-(i)
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165.

166.

167.

168.

Find the incorrect pair :

(1) South America - Mount Aconcagua
(2) North America - Mount McKinley
(3) Europe - Mount Kosciuzko
(4) Asia - Mount Everest

In Mexico is called “Sierra

Madre”, a young folded mountain.

(1) Himalayas

(2) Appalachian Mountains
(3) Andes Mountains

(4) Rocky Mountains

“Grand Banks” relates to :

(1) Minerals

(2) Industries

(3) Fishing ground
(4) Transport Road

Which is known as the ‘Light House of
Mediterranean Sea ?

(1) St. Helens
(2) Stromboli
(3) Vesuvius
(4) Mauna Loa

Kindly send me your questions and answerkeys to us :
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165.

166.

167.

168.

QuITHBSTS @mmmuiﬁ EETLDg, .

(1)

Qgern 2IEAGST - DIBTEET (G,

Aoy |
2) e 2@Wwh&a- Q0 saaS dgy; %
(3) gGrmumr - &Iavd LLevCan
3 E 4y ()
4) <pslur - ereu@ravl Ay,

Q&HCaT HTiiged “Eumyi r Gy
ey si@pssLUBL Gard wely
LDEDED.

@ wwienev

SILICaIWIET LOEGVSET
<2, @ lq GV LDEHEV

Tn&dl LDEeSET

‘Srrerl Cums'’
QaTLyeL g

1)
()
(3)
(4)

ST GUGTLD
Qampareanager
Bem 9y gemb

Curs@eursg srane

'"EEW FeTESLSe seiismy eflamsd
T SMP&ESILHeug)

(1) Geler’ Qaneer
(2) evigmbCumel

(B) Qeusefweiv

(4) wejenm Geor
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169. Swahili culture ig

170.

and
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A mixture of

—_——

Arabs and Americans

Africans and Europeans

Arabs and Africans

Africans and Asians

Which is the largest freshwater lake in

Africa ?

(1) Tanganyika
(2) Victoria

(3) Malavi

(4) Turkana

171. The river that runs from Australian Alps to
the Indian Ocean is :

172.

(1)
(2)
(3)
(4)

Murray
Alexandria
Lachlan

Swan

Xiluodu Dam is in :

(1)
(2)
(3)
4)

China
Venezuela
Brazil

Paraguay

27

169.

170.

171.

172,

|CODE [vin| 11 [ 23 |

Geunedl srEsTyd oM mILD

o0& ) &0 awr 6u ey
2 (HOUME SEENEUWIM(GLD.

1) <Gnw wHMbL HGWLAGS
2) <9N&s wHmL BCrTiNGw
@) <Crlw wHmd < NINEs
4) <PLaN&Es wHmID

Udfssrele o drer WsHGQUMAW
peeutit 6yl :

1) vmhasreilsast
(2) N&CLmiwmr
(3) wmemel

(4) gTsTET

LA HCrallureddr wotich wmas
GgsrLfallmpbs Q@bHwut QumhisLd
QUG LMD B :

1) Gy
)  <iCesevmetrg Muwir
(B) em&eve

(4) oveumes

DG Simenr SihgETeT QL LD :
(1) &

Q) Qeusfaer
(3) WG
4) urnrEgCeu
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173. The leading producer of petroleum in India :

174.

175.

(1) Raniganj

(2) Digboi

(3) Bokaro

(4) Jharia

To become a Chief Minister, one should have

completed the age of :

1) 18
@) 25
(B) 35
4) 30

A party is recognised as a National party
when it secures atleast of the
valid votes in Lok Sabha/ Assembly elections

in four states.

1) 5%
@ 3%
@) 7%
4) 6%
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173. @pAwrefd QuUGTTEIWD 2Husg

174.

175.

Qi apsaeno BSID -
presfl&@Ehé

Heumi

QunsrGym

ggrrfﬂum

ws@wsETTs A @BLUL PGt
g BisAUDLEADES

Ceuat(HLd.

(1) 18

@) 25

3) 35

@) 30

0 &L 8l GCsélw sl Slwurs

gmssflssliu@eausnE wviEsaTOQ

SOOG BTG LIRS EHESTE
sLLwams GCsisdller Qswssss
Quorss aursEsaile UNEG-
searll QuOPBHEs560 Caudr(Hib.

1) 5%
2) 3%
3) 7%
4) 6%
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176. Match the following :

177.

178.

(@) First Woman (i)  Arundhati Roy
Governor

(b)  First Woman  (ii) Indira Gandhi
Prime Minister

()  First Woman (i) Meira Kumar
Speaker of
Loksabha

(d) First Indian (iv) Sarojini Naidu
Woman to win
Booker Prize

(1) (@)-@), ®)-(i), (©)-(i), (d)-(iv)

() (@)-(@v), (b)-(idi), (0)-(ii), (d)-(i)

B)  (@-(v), (b)-(ii), (c)-(iii), (d)-(i)

(4)  (a)-(v), (b)-(iii), (c)-(), (d)-(ii)

According to Amendment of
Indian Constitution, a set of fundamental

duties are prescribed to all citizens of India.

(1) 42nd
(2) 218t
(3) 53rd
(@) 45th

Which country is not a member of BIMSTEC ?

(1) India

(2) Myanmar
(3) China

(4) Nepal

176.

IR

178.

| CODE [vlI]| II | 23 |

QuUMMSSIS
(@) apge Quer () SAGESS
<} (EHBIT T

(®) s Quar (i) @odom
Gygwom SMHS)

(c) &SETEn6 (iii) Sgm Gomm
Ws5& Quewt
FUMBTWIST

(d) ysasr ufls (iv) &Grrglefl
Qupp P LN
@BSwir Quekt

1) (@-(@), (0)-(ii), (0)-(iii), (d)-(iv)

(2 (a)-@iv), (b)-(iii), (c)-(i), (d)-(3)

3)  (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)

@)  (@)-(iv), (b)-(iii), (c)-(1), (d)-(ii)

QrHw rHlwueeawinlen

sLLSEBSssH Ly @AW Gl
WESEHGETRT DgLIUMLE &L O&GET
umIwWmEsSUILL (heTeTer.

(1) 42 -eugy

2 21 -cug

(3) 53 -cugy

(4) 45 -eug

Qareumeuaaupmer 1 Qbev@ s
saLLafl prpsaia Gdawns ganm

1) Qpdun

Q) Vwreror

(3) é&er

#)  Couramnd
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179.

180.

The MLA of your constituency is one of the

Ministers in the State assembly. IHe comes

activity.

(1) Secondary economic
(2) Tertiary economic
(3) Quaternary economic

(4)  Quinary economic

Which among the following does not fall
under the market type based on the
Geographic Location ?

(1) Local Market
(2) Regional Market
(3) Spot Market

(4) International Market

-00o0-
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179. 2_m&er

180.

: . )
@gﬂ@@‘ﬁ]m e LLLDQH!D
2_mGerm Lﬁ”ﬂw ég;mw.&&l}mmlmd)

T U

utki@ QupmeTerTr. < ‘
Qeweur@safle |L_TBIGGUITIT.

(1) @uerLmb Bl QummaTTgmy
2) apenpmd Hlenew QUITHETITSTY

@) mreansd Hea AUTGATTSMY

(4)  eppgmd Hever CIUTGATTSTY

&g’ge’;a;@'m_mgbgﬁé) goudwed Q-
GLsHem il FHENS cuanGSafe)
@eersg gl ?

(1) o dTEniT FHESHET

(2) QA FHEPGSHET

(B) 2oLangs sHMG

4) &TeuCGss FHMSHET

-00o0-
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